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GENERAL INTELLIGENCE & REASONING

1. Which of the following interchange ‘:;f
signs would make the equation ¢
8x6+2=22
(A) +.x2and6 (B) +x2and8
(C) +.x.6and8 (D) +x2and22
2. If *- stands for addition, ‘+* stands
for subtraction, +' stands for
multiplication and stands for
division, then which one of the
following equation is correct !
(A) S50x5+2-30+25=25
(B) 50-30+5+2x30=25
(C) 40+35x2-50+30=95
(D) 30x2-25+50+5=100
Directions : In Question Nos. 3 and 4
some equations are solved on the basis of
certain system. Find out the correct answer
for the unsolved equation on that basis,
3. 2X4x6=4.9x3x7=13:
4xT7x6=3,9%xTx8=7
(A) 10 (B) 09 (C) 08 (D) 07
4. IXS5xTx2=242x4x6%x8=22,
4x4xEx0="
(AL33 (B) 25 (C) 144 (D) 1152
Directions : In Question Nos. 5 to 7 find the

Directions (Q. Nos. 8 to 13) | Select the
related word/letter’'numbers from the given
alternatives.

8. SOCIAL : OCIALS : : DRIVEN 2

(A) VENRID {B) NEVIRD
(€3 RIVEND (D) VIREND
9 A W
9. B 64 " 167
(A 128 (B) 126
(C) 144 (D) 132
10, 20271 ::794%
(A 120 (B) 192
(C) 197 (D) 131

11. Embarrassed : Humiliated :
Frightened : ? '
(A) Termtied
(C) Courageous

(BT Agitated
(D) * Reckless

12. Macabre ;: Lovely : : Baneful : ?
(A)~ Unhammful (B) Churhsh
(C) Filter (D) Uply

e

missing number from the given responses. 13. AYRRIC : CATTLE : : NCPDCAR : 7
5. 96 7 168 (A) SUBIJECT (B) NEGLECT
1z 48 56 {'L:)..«\ PERFECT (D) OPERATE
16 24 28 2
59 Directions : In Question Nos. 14 10 19
el ‘B)" 143.(C) 64 (D)% find the odd word/letters/numbers from the
6. g {S;u ? given alternatives.
- 3 6 14. (A) 5qulurr: (B) Trapezium
84 216 900 (Q~Cylinder (D) Pamllelogram
. {A]_? 90 3fﬂ} 70 lC.]? 65 (D30 15. (A) Yacht ¢8) Submarine
TR () Boat (D) Ship
4 2 r 6 16. (A) Autobiography J
5 SRy 2 (B}~ Malayalam
196 121 144 225 ' (C)  Intelligence <
(A)4 (B)S ()6 (D)3 (D) Dictionary -

\b

SPACE FOR ROUGH WORK




17. (AY MIGE (B) ﬁ;‘ﬂ
(C) RNKI (D) .
8
18. (Ay 42:4 (B) 4 |
(C) 32:2 (D) 15:5
19. (AL Year2012 (B) Yuarlggg
(C) Year2005 (D) Year]

20. Arrange the following words as pef
order 1n the dictionary :

I.  Euphrasy 2.  Eupepsy

3 Euphonic 4.  Eugenic

5. Euphony

(A) 4,3,2,1,5 (B) 3,415%5

(C) 4.2.3,5,1 (D) 3.58081
21.  Which one of the given responses would

be a meaningful order of the following ?

! Absorption 2. Digestion

3. Nutrition 4.  Excretion

(A 3.1,2.4 (B) 2.1,3,4

(C) 3,4,2,1 (D) 3.2,1.4
Directions :

: ¢ In Question Nos. 22 to 25, a
series 1s given, with one term missing,
Choose the correct alternative from the
given ones that will complete the series.

22.- 0 ¥ 8.27 64 125

(A) 5 (B) 4

T (D) 1
23. BMX.DNW,.FOU, ?

(A) GHO (B) GPS

(Cr HPS (D) HPT
24. DHK,GKN, JNQ. 2

(A) -MRU (B MOT

(C) LPS (D) NEU

3l

26, In a class composed of x girls and y boys
what part of the class is composed of

girls ' 1

AA) ylx+y) (B) xixy =

=

(C) xix+y) (D) ylxy ]
27.  If a number is greater than S but less

than 9 and greater than 7 but lesy

than |1, the number 18

(A) 5 (BY6 (C)7T (N5l
28. Inarow. 25 trees are planted at equal

distance from each Hfhﬁ-‘j he

distance between 17 and 25™ tree is

10 m. What ) the distance between

1" and 15" tree ?

(A) Em (B) 1Sm(C) lo6miD) IS m
Directions : In Question Nos. 29 & 3
from the given alternative words, select the
word which cannot be formed using the
letters of the given word
29, INSTITUTIONALISI

f.-WJ.'H’”“J_L. (B) INTUTION

(C) TUITION (D) INSULATION
30. STIMULATION

(A STATION (B) NATION

(C)' MOTION (L~ MOUTH
In a certain code, TRIPLE I1s written

as SOHOKD. How is DISPOSE
wrmu? in that code 7

(A~ CHRONRD (B) DSOESPI
(C) ESITPTEF (D) ESOPSID

"u.:u'hiti*l: lht:th:r in the word
should be changed i
movement ? ks o
(A) 17 (B) 2% (C) 4

: | (D) Last
If TRANSFER g coded as
RTNAFSRE, then how ELEPHANT
be coded in that code langyas

‘Vertex’

NS ¢+ 9 . (A) LEPEHATN (By. | fog
(B) 225 325 425 34.  IFMONKO is coded as 57637
(C) 625,325, 15605 """ KLIMN be coded in the sgme a0 How
(Br 625,3125,15625 E?; 5’%‘,‘?2 D
—_— (D)
____-_-—\——_.____.J
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Inforenten "+ 1 Resdents of. Anand

Colony use their  electrical
lances 12 O'clock tomaomow.

I Residents of Anand Colony need

training for using electricity economically.

(A) Only inference | follows.

(B)  Only interence 1 follows.

(C)  Both the inferences follow.

W None of the inferences follows.

Anand travels 10 kms from his home
to the east to reach his school. Then
he travels S kms to the south to reach
his father's shop. after school. He
then ravels 10 Kkms to the west to
help his uncle. How far and in which
direction s he from his home 2

(A) 10 kms North (B kms South
() Skms East (D) 10 kms West
Four vill AB, Cand D lieina
stranght I{i]rﬁ‘.s[} 18 10 kms from B. A
15 exaetly between D and C and C from
B 1s 2 kms more than it 1s from D

tm [H:is ChomB?

! ms 6 kms

(C) 8 ks D) 2 kms
Seleet the altermative in ‘
e <o ative inference which
“All mm S are leamed: leamed

people are alwa »

40. Question figure

Answer i
b Oflja = &
»]

= |V &
A "
= N - .

b 4 L

(A} «B)

41.  Which of the thl’hm*&wm ure
cannot oceur when the question figu
given below s rotated ? '

© ®




(A) S+T+U
(C)..8

(B)

\4

(D) P+R+U

Directions : In Question Nos. 45 and 46,
which answer figure will complete the

pattern in the question figure ?
45.  Question figure -

AT
AR

Answer figures :

Bz =)

&3

)

(B)

48, A picce of paper 18 folded and cut a '
shown below in the question figures, ’
From the given answer figures,
indicate how it will appear when '.
opened. -~

uestion figures :

Ol

Answer

A)

FINEEREN,

ligures :
DB DB =
(A) (B) (&) (D) '

49. It a mirror is placed on the line MN.

A) C (
4 ( _ (C) D) | then which of the answer figures is
6. Question figure : the right image of the given figure ?
Question figure :
W
v
Answer figures : A r i 1
nswer figures : <
oo || @ - f ' D
06 ’—@) ® v, 0 4o El O |
(A) (B) (C) (D) (A) (B)
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10 6 respectively and that | 71 0
numbered from 2 to 6 and :
respectively. A letter from these matrices

can be represented first by its oW aﬁ
next by its column, € ‘H m“aN*
represented by 04, 25, 32, etc., and

can be represented by 21, 40, 59, ete.
Similarly, you have to identify the set for

the word given below :

YEAR
—_ Matrix -1 Matrix - 11
2[374]576 7[8]9]1]0
O/ YIATHIM | [2]E[R|V|[N|O
LIMJTH[A[Y] [3]VIN|O[E|R
2/AYJIHIM [4]OlE[RIV]N
3IHIJ|YIMA| [S|IR[VINIOIE
(41T MA| Y[ H| [6INIOIEIRIV

B LA N | |

(A) 23.27.15.61
(B) 16, 38, 15. 30
(C) 34,31.32. 2%
(D) 45, 50, 36, 29

For Visually Handicapped Candidates only

Directions : In Question Nos. 39 to 41
select the related words/letters/number ﬁmr:
the given alternatives.
39. Binding : Book

(A) Criminal : Gang

(B) Artist : Carpenter

(C) Frame : Picture

R fs
Directions : In
Sives it T
ven alt VeS, R
5. (A) Microscope Telescope
(C) Periscope % Stethoscope
43. (A) ONONLD (B) RESOMY
(C) NOARDP }D} DRASMA
4. (A)82 (B)65 (C)26 (D)Is
45, Which one of the given responses would |
be a meaningful order of the 1
. Pass 2. Medal
4. School 5. Examination
(A 4.5.3.1.2 (B) 5.3.1.24%
(C) 4.5 1.2:3 (D) 41,523

46.

47.

48.

Choose the correct alternative from the
given ones that will complete the series.

5.4,10. 8, 15,7
(A) 12 (B) 17 () 19 (D) 4

If BILLION is written as IBLLOIN,
how will CLINTON be coded ?

(A} TLINCON (B) NITLNOC
(C) LCNIOTN (D) NLITONC

If *** stands for division, ‘<" stands
for multuplication, stands for
addition and ‘@' stands for
subtraction, which one of the

following equation is correct ?

(A) 25*5@ 10/1-100/5 =100
(B) 25/5-50@30*2=17%

(C) 25-6/10@ | @ 100* 5 =130
(D) 25/100*5/10@ | -6 =29

Directions : In Question Nos. 49 and %0, some

letters
Select

49.

are given with numbers from | 10 9 or 6.
the sequence of numbers which

N N DL NS
1. 3 4 5

arranges the letters into a mmlaﬁ.ﬂ word.
T A
7T 858

3
(D) Display : Museum (A) 2157643
40. DGLS:: ADIP: : CFKR : : 9 (2 2143888
42135
(A) RUXA ' (B) RUZG (1 $312828
(C) RTVX (D) Rvzc ,,:
41, 16:26:36:
(A) 50 m{ 48 3
(C) 29 (D) 60 '
SPACE FOR ROUGH WORK
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58.

§7.

54,

-fﬂ’:} and declares the

renunciation of war ?
(A) Maski Edict
(Bf" Rock Edict X111
(O Rock Edict XI

Kalinga

(D) Rock Edict X

Akbar held his religious discussion n
(A) Jodhabai's Palace

(B) Panch Mahal

(G Ibadat Khana

(D) Buland Darwaza

Who succeeded Guru Nanak ?
(A} Guru Angad

(B)  Guru Ramdas

(C)  Guru Arjan

(D) Guru Hargobind

The Earliest Settlements of Arvan
tribes were at :

{A) Uttar Pradesh
(B) Bengal

((-= Sapta Sindhu
(D) Delln

Who said, “Adolf Hitler is Germany
and Germany is Adolf Hitler, He

who pledges  himself 1o Hitler
pledges himself to Germany™ 9

(A) R. Hess :

(B) Mussolini

(& Hitler

(D)  Communist Internationgal

Who speaks of Cabinet system as
“the steering wheel of the ship of

State™ ?
(A) Lowell 48)  Mui
(C) Marriot (D) Bagzhm

Who has called the Prime Minister

(first among

(B) Harcourt
(D)  Lowell

B =

.u‘_,_

h't‘l ;...h?- . ﬁ‘ .
L AWARENESS PR
§9.  What is mh '
hushandry 7
(A) Mixed _ :
(B) Mixed agri
#2)  Dairy farming
(D) Truck farming
60. Hvdraulic Action is a type of erc
caused by
(A)~ Running water
(B) Wind
(CYy Glacier
(D) None of these &
61. Which of the following is the newest
geological era ? ~
(A) Permuan (< Triassic
(C) Cretaceous (D) Jurassic
62. The plamt from which cocoa and
chocolate are obtained 1s a
{A) herb
(B) shrub
(C) small tree
(D)  very big tree
63, The biggest single-celled orgamsm is
(A) Yeast i
(B) Acetabulana
(C) Acetobacter
(P Amoeba
64. Crescograph was invented by
(A) S.N. Bose ,
(B) P.C. Roy
(C) 1.C. Bose
(D) P.C. Mahalanobis
65. Foramen Magnum is an aperture
found in the
(A) Ear B)
(C) Girdle :D; ISF:::!S]
66. Who betraved Siraj-ud-Daula in the
Battle of Plassey in 1757 2
(A} Hyder Al
(B3}— Mir Qasim
(C) Mur Jaffar
(D)  Nawab of Qudh
67. ‘Kelp'is
(A)  Sulphide mineral of iron
(C)  Sea weed rich in iodine content
(D) An aluminium silicate minera]
68. Spot the odd item in the Ry -
(MY Basale By poaing:



(A) locate submerged S0
(B)  receive signal from radio

(D) locate Mmu{dlitﬂﬁi

71.  Optical fibre works on the principle

of

(A) refraction

(B) scattering

(C)  interference

(I total internal reflection

72.  Which

presentations ?

(A)  Microsoft Excel

(B) Microsoft Word
(G—Microsoft PowerPoint
(D) Microsoft Publishers

73. Thp language which was used to
build Internet Pages in the beginning

of Internet Technology s

(A) XML (B HTML
(C) DHTML (D) Agp

74. Name the branch of Zoology that

animal behaviour.
(A)  Ecology (B)
(C) Ethology (D Anatomy
75. ‘Barr body’ is found in

(A) Sperm

(B) Sertoli cells

(C) - Female somatic cells

(D) Male somatic cells

(A) temperature

(B) distance

(C) radius

(D) atmospheric pressure

(C) detect and locate distant objects.

application in Microsoft
Office is feasible for preparing

Physiology

76.  The colours of stars depend oq their

M

79.

80.

81.

82.

83.

84.

85.

The pollutant responsible for

holesis
(A) €O, (B) SO,
(C) CO ()~ CFC

One of the best solutions 1o get rid of
non-biodegradable wastes is i
(A) Buming (By I -
(C) Burying LD} Rn:ycl'ﬂ ] _'

Vermicomposting is done by
(A) Fungus (B) Bacteria
l'f"lf- Worms (D) Animals

If "waste materials contaminate the

source of drinking water, which of {
the following discases will spread 7! 4
(A)  Scurvy (8~ Typhoud |
(C) Malaria (D)  Anaemia

India exports power 1o
[Mang!aduﬁh ~B)
(C) ?\Pakistun

.hiy_ o
IDk Bhutan

The alkaloid naturally  found in
coffee, cocoa and cola nut 15

(A)  Cocaine (B) -
Cattene.

(C)  Tannin (D)

The metal used for making arrcrafts

and rockets is

(A)  Lead ‘ i
(C) Nickel {3—%; "N X
The n.f mn h ¢ .:‘- i a:::..-‘, a-
of ru by heatin

is called







102.

103,

104,

> _!:I:'-_"if'

. The penmeters of a circle, a

PA) 2730 27,700

A) 7300 (B) %7,

© 800 (D) T7.250
To attract more visitors, Zoo
authority announces 20% discount on
every ticket which costs 25 p. For
this reason, sale of ticket increases by
28%. Find the percentage of increasc
in the number of visitors.

(A) 40 % (B) 50% -
(C) 60% (D) No change

Which of the following represents a
correct proportion ?

(AY 12:9=16:12

(B) 13:11=5:4

(C) 30:45=13:24

(D) 3:5=2:5

A sphere is cut into two hemispheres,
One of t_hc'm 15 used as bowl. It takes
§ bowlfuls of this to fill a conical
vessel _t[‘r':‘ height 12 em and radius
6 cm. The radius of the g i

centimetre) will be Piisse (in

(A) 3 (BY 2 ) 4 (D) 6

and an equilateral thangle are

and thpl:! areas are C, § ansgm;
ively. Which Ly

—— Cis true? O e following

(A) C=S=T (Bl C>

(C) C<S<T (p) squ¥

--w’

L

(A) T6 (B) 28 (C) Z10
108. If A’s salary is 50% n 1
B, then B'S salary is less th:

(A) 33% (B) 4C
(©) 45%% -:Dy:_'&%

109. A dnd B are 20 km apart. A ca
at an average speed of 4 km/
B at 6 km/hr, If they start v
towards each other at 7 am., ¥
they will meet ? -
(A) 8.00am. (B) 8.30a.
(G 9.00 a.m, (D) 10.00
110. A policeman starts to chase a
When the thief goes 10 steps
policeman moves 8 steps. 5. step
the policeman is equal to 7
the thief. The ratio of the spe
the policeman and the thiefis
(A) 25:28 (B) 25:85
0y 28225 (D) 56
111, In a Mathematics examination tk
numbers scored by 5 candi
successive odd integers.
marks is 185, the highest
A+ 39 (B) 43 ()
112. In two successive year:
















152. He went to oblige his superi_m, 5
(A) on his way (B) m_mfhlls de\-.
(C) inhisway (D) with his way

153. During a period of pn:_ltra:iad illness.
the sick can become infirm,
both the strength to work and many
of the specific skills that were once
possessed. _

(A) regaining (B) denying
(C) pursuing (D) losing

154. The members of the religious sect

nstracized the who had

abandoned their faith.

(A) coward (B) litigant

(C) recreant (D} suppliant
155. Would you mind the suitcase,

sir?

(A) open (B) opening

{C— to open (D) opened

Directions : In Question Nos. 156 to 158 out
of the four altematives, ¢choose the one which

best ci?&: the meaning of the gy
and mark it in the Am‘wergﬁhect_ T

156. Impervious

(A) Audacious (B) Haph d
phazar
(C)  Impenetrable (D) Iliogical
157. Peruse
(A) Overuse (B) Examine

(C) Abuse (D) Defuse

158. Amicable
Miyf?imdly (B) Happy

(C) Perfect (D) Joyous

choose the wosd oppasite
given word and mark it i
Sheet. :
159. Desecration -
(A) Hopelessness (B) Disbelief

160. Yield _
(A) Respond (B) Sur!trwa
(C) Attack (D) ~Resist

161. Particularly
(A) Elaborately
(B}~ Generally
(C) Comprehensively
(D) Entirely
Directions : In Question Nos. 162 to 166,
four alternatives are given for the
[djom'\Phrase underlined in the sentence.
Choose the alternative which best
expresses the meaning of the Idiom'\Phrase
and mark it in the Answer Sheet.
162. Indians are going places in the field
of software technology.
(4 going abroad
(B) going to spaces
(C) talented and successful
(D) friendly and amicable
163. She is a person who pulls no punches.
(Ax— speaks politely
(B) speaks frankly
(C) speaks rudely
(D) speaks sweetly
164. For any group work to be successful,
it is important that everyone is on the
same page.
(A) present for the meeting
(B) registered for the work
(C) willing to pay the same fees
(Dy" thinks in a similar way
165. Our plan to go to London is in the air.
{ undecided
{(B) certain
(C) under consideration
(D) for approval
166. My efforts at pest control went jn
vain, 1 have to go :

drawing board.
( plan it all over again

(B) take professional help

(D) work at night

(C) Veneration (D) Mﬂﬂii’mﬂﬁiﬁ-:}_ ::

e
A

&
3 el
%

)
&
'

(C)  spend some time researching B oo










ent from domestic as the motivation
behaviour of parties involved in a
j¢ do not change fundamentally
ardless of whether trade is across a
yrder or not. The main difference is that
ernational trade is typically more costly
han  domestic trade.  Another difference
wetween domestic and international trade is
that factars—of-production such as capital
and labour arc typically more mobile
‘within a country than across countries.

191. Which of the following is one of the
factogs of production ?
(A Capital (B) Cost
(C) Prof (D) Loss

" 192. What is the synonym of ‘mobile’ 7
(A) Versatle wB) Moveable
(C) Changeable (D) Transferable
193. Which onc of the following has a
major impact on int ernational trade ?
(A) Contribution to GDP
BT~ Industrialization
(C) /&’Jutsuun;ing
(D) Domestic trade

194. According to the author, increasing

international trade

(A) brings about speedy
industrialization.

(B) uplifts technology and
transportation. ,

(E}//is crucial to the continuance of
globalization.

(D) encourages
corporations.

- 195. What is the main difference between
~ international and domestic trade ?
~ (A) One is more significant than
. the other
& One is more costly than the
: other
(C) One is more advanced than the

multinational
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Such rules  do not
(A) (B)
you and 1.  No ermor

;ﬁ'{n}

The river  has c-~..'.~,-|rflm.nrn4r its hapk

R T

No error

(D)

)

1S regardcd;nsth: finest in the
(B) (C)

country  No error

(D)

‘
.:‘
bt

One of the most

(A)
bad habit is the




